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Time: 3 hours







M.M 100 

General instructions:

1. All questions in both the sections are compulsory.

2. Marks for questions are indicated against each.

3. Questions 1 -5 and 17-21 are very short answer questions carrying 1 mark.

They are to be answered in one sentence each.

4. Questions 6-10 and 22-26 are short answer questions carrying 3 marks each. Answers to them should not normally exceed 60 words each.

5. Questions 11-13 and 27-29 are also short answer questions of 4 marks each. Answers to them should not normally exceed 70 words each.

6. Questions 14- 16 and 30-32 are long answer questions of 6 marks each. Answers to them should not normally exceed 100 words each.

7. Answers should be brief and to the point and the above word limits be adhered to as far as possible.

8. All parts of the question should be answered at one place.
INTRODUCTORY MICRO ECONOMICS
1. When is the demand for a commodity said to be inelastic?


[1]

2. What is meant by opportunity cost?





[1]

3. Define marginal revenue.







[1]

4. What change will take place in marginal product when total product increases at a    

    diminishing rate?








[1]

5. Give one reason for a rightward shift in supply curve.



[1]

6. Explain the central problem of ‘choice of technique’.



[3]





OR

    Distinguish between (a) positive economics and normative economics




 (b) micro economics and macro economics.

7. How is the price elasticity of demand for a commodity affected by nature of the good and number of its substitutes? Explain.





[3]

8. Explain the changes that will take place in the market for a commodity if the prevailing market price is less than the equilibrium price.




[3]

9. The ratio of elasticity of supply of commodities A and B is 1:1.5, 20 percent fall in price of A results in a 40 percent fall in its supply. Calculate percentage increase in supply of B if its price rises from Rs. 10 to Rs. 11 per unit.



[3]

10. Explain consumer’s equilibrium in case of a single commodity through the marginal utility approach.








[3]

11. Complete the following table:






[4]

	Output (units)
	Average Variable Cost (Rs.)
	Total Cost (Rs.)
	Marginal Cost (Rs.)

	          1

          2

          3

          4

          5
	        __

        18

        __

        20

        22
	      60

      __

      __
      120

       __
	     20

     __

     18

     __

     __
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The diagram shows AE is the demand curve of a commodity. On the basis of the above diagram state whether the following statements are true or false, give reasons.
[4]

(a) Demand at point B is price inelastic.

(b) Demand at point C is more price elastic than at point B

(c) Demand at point C is price elastic

(d) Price elasticity of demand at point C is greater than the price elasticity of demand at point D

13. Explain the implications of the following features of market:




      (a) Product differentiation under monopolistic competition

      (b) Large number of buyers and sellers feature of perfect competition.

[4]

14. Giving reasons state whether the following statements are true or false:

[6]

      (a) A producer is in equilibrium when total cost and total revenue are equal.

      (b) The difference between Average total cost and Average variable cost increases 

            With increase in the level of output.

       (c) When MR is zero, AR will be constant

       (d) When MC rises, AC will also rise.

15. Explain the likely behaviour of total product and marginal product when for increasing production only one input is increased while all other inputs are kept constant.





OR

  Explain the causes of a leftward shift in demand curve of a commodity.

[6]

16. Explain the following:







[6]

  (a) What is a budget line? What does the point on it indicate in terms of prices?

  (b) Why is an Indifference curve convex to the origin ?

  (c ) Why does a higher Indifference represent a higher level of satisfaction

                                     INTRODUCTORY MACRO ECONOMICS
17. Give the meaning of involuntary unemployment.



[1]

18. What determines the level of household consumption expenditure in an 

     economy?









[1]

19. Why is repayment of a loan a capital expenditure?



[1]

20. What can be the minimum value of investment multiplier?


[1]

21. What is meant by balance of trade?





[1]

22. Calculate “Sales” from the following data:




[3]


Items







Rs. In lakhs

     (i) Net value added at factor cost





300

     (ii) Net addition to stocks





          (-)20

     (iii) Sales tax







  30

     (iv) Depreciation







  10

     (v) Intermediate consumption





100

     (vi) Subsidy







    5

23. How can a government budget help in reducing inequalities of income? 

      Explain.









[3]

24. Explain the meaning and implications of fiscal deficit.



[3]

25. Explain the effect of depreciation of domestic currency on exports.

[3]





OR

      How is foreign rate of exchange determined? Explain.

26. Distinguish between current account and capital account of balance of payments account.









[3]

27. Explain the function of a Central Bank as a banker to the government.

[4]





OR

     Explain the open market operations method of credit control used by a Central Bank.

28. How will you treat the following while estimating domestic factor income of India? Give reasons for your answer.






[4]

(a) Profits earned by branches of a foreign bank in India

(b) Rent paid by the embassy of Japan in India to a resident Indian

 (c ) Unemployment allowances paid by the govt.

(d) Salaries received by Indians working in branches of foreign banks in India.

29. Explain the process of money creation by commercial banks.


[4]

30. C= 100+0.75Y is the consumption function and investment expenditure is 800 crores. On the basis of this information calculate (i) equilibrium level of income (ii) savings at equilibrium level of income.







[6]

31. In an economy Aggregate Demand is less than Aggregate Supply. Is the economy in equilibrium? If not, explain the changes that will bring the economy in equilibrium. [6]

32. From the following data, calculate national income by income method, expenditure method and national disposable income





  [6]


ITEMS  





   Rs. Crores

1. Net domestic capital formation




360

2. Interest







200

3. Rent








300

4. Private final consumption expenditure


          1300

5. Govt. final consumption expenditure



730

6. Net exports






         (-) 20

7. Net indirect taxes






  70

8. Net current transfers from rest of the world


 80

9. Consumption of fixed capital




  60

10. Net factor income from abroad



         (-) 50

11. Compensation of employees



          1200

                                        **********************
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